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The figures in the margin indicate full mart<s.

Candidates are required to give their answers

in their own words as far as practicable.

[Networking Programming]

Group - A

Answer any Jive questions :

1. What is de-multiplexing?

2. List the flag used in TCp header.

3. Define network congestion.

4. What are the types of port numbers used in transport
layer?

5. Why TCP services are called Stream delivery services?
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(8)
Eaplain how the logistic regression model is derived firom
simple linear regression for classification

l0x l:10

2+8

(b) graphical models in
any two graphical

6

@

,.11 V/rite a short note on multilayer percepton model.

12. 
,Compare 

gradient and scholastic gradient descent.

f3. Relate Inductive bias conceming Decision free leaming.

,.t4. Explain how dimensionality reduction takes plrce usingI PCA.

Group - C

Answer any aze question.

15. What do you mean by regularization? What are the
different reg,larization techniques? Explain each of the
techniques.

(a) What is Bays' Theorem? Explain using examples.

What do you understand by
machine learning? Explain
models.
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